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B %
X % TRKERfER K 3 1e =5 &k X
H13EE 39.6 47.5 270
H144EE 43.5 48.7 28.5
H154EE 470 48.1 30.6
H16EE 494 50.3 32.1
H178EE 43.1 02.7 32.9
H18&[E 45.5 92.5 34.2
H19&F[E 470 51.1 34.0
H205 & 49.2 54.1 33.5
H214EE 90.9 95.6 33.8
H224F 52.0 56.1 34.1
H234 & 53.4 54.5 35.0
H24F & 99.3 06.9 35.3
H254F & 06.0 63.2 36.3
H26 5 £ 56.0 65.0 36.8
H27EE 096.5 67.6 36.9
H284F & 56.7 68.8 37.3
H294F 06.8 69.8 37.5
H30F & 69.7 70.6 37.9
RITFE 69.8 71.5 38.0
R2EFE 69.9 712.6 38.3
R3IFE 70.0 7134 38.6
RAFE 70.0 73.8 38.5
RS E 70.0 74.2 38.7

XTERRE=2FER 2HEHE
(23, B, i)

SOKZE LR = Kb A D RIEATAEA D
(233, $HIB. Foish)

NERE=LETEAD A EREREIEAD
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